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500L 5k %
LPG 661, 701 1,568 661, 701 _ 1,568
PG 74, 490 80 74, 490 80
LG 41,838 0 41,838 0
AG 4,806 0 4,806 0
LT 1,857 556 1,857 556
LNGV 0 0 ] 0
DL 0 0
LDH 0 0
Z Dt 0 0 0 0
EhEsEr | 184,692 2 2,204) ) ___7846%2( ________ 2,204y ]
HEERAL ) 6.6 20.8
SEZSR 786,896 _______________} 786,896
HEERALL %) 76.0

500L L1 £ 1000L &35
LPG 0 0 0 0
PG 480 0 480 0
LG 340 34 340 34
LT 0 0 0 0
(LDL 0 0
(LDH 0 0
(2 it 0 0 0 0
EE TR oy R 820f S R E N g0f ar ]
HEIERALE (%) 96.7 53
wemas [ 7
HETERALE *) 0.1

1000121 £
LPG 1,522 356 45 1,522 356 45
PG 0 23 0 0 53 0
LG 65 190 0 65 190 0
LT 107 13 14 107 13 14
DL 0 0
(LDH 0 0
B 0 0 0 0 0 0
ERESAE 1694 6rzy ] I leo4 612 99
ABEE A %) 127.3 67.9 103.5
\Egsst 0 236 2,366
MEEREAL %) : 0.2
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